
Imported by Amart Furniture Pty Ltd, Qld, Brisbane Australia.
For any assistance with assembly or for missing parts please phone
Amart Furniture, Customer Service Free call 1800 351 084

ASSEMBLY INSTRUCTION
MORRISON CORNER CHAISE
ITEM CODE 69015
Imported by Amart Furniture Pty Ltd, Qld, Brisbane Australia.
For any assistance with assembly or for missing parts please phone 
Amart Furniture, Customer Service Free call 1800 351 084

1 69015

88cm



PRE‐ASSEMBLY PREPARATION

Before you start:
1. Choose a clean, level, spacious assembly area. Avoid hard surfaces that may

damage the product
2. Take care when lifting. Product should be assembled as near as possible to

the point of use
3. Ensure that you have all required contents for complete assembly
4. Always read the assembly instructions carefully before beginning assembly.
5. Keep all hardware parts and packaging out of reach of small children.
6. Do not over tighten the screws and bolts as this may damage the threads

30

2 69015

2

WARNING 
• DO NOT STUB YOUR TOES ON THE CONNECTION CLIP 

POKING OUT FROM THE BOTTOM OF THE SOFA. 
• KEEP ALL BODY PARTS CLEAR FROM UNDER THE 

MOVING BACKREST MECHANISM TO ADVOID INJURY.



Step1: Locate package of sofa legs with fittings and hardware for assembly 
of adjustable backrest that are placed into zipper pocket at the bottom of
left hand facing chair.

STEP2: Tighten the pair of timber leg (a) to the bottom of left hand facing 
chair at arm side with bolt (c) and washer (d) by Allen key (e). 

3 69015

With 2 people 
carefully turn          
onto back on         

piece of cardboard 
or carpet to protect 

covering

c. Bolt M8X60 d. Washer 18*8.5*2mm e. Allen key 

8pcs

4pcs

a. Timber leg

2pcs

b. Plastic leg

4pcs 1pcs

pocket

2pcs

f. Bolt M8X40 i. Washer 25*8.5*2mm

4pcs

g. Nut

4pcs

h. Wrench

1pcs

Front

Back

A
rm

 sid
e

clockwise turning 
of Allen key for 
tighten of bolts  



STEP3: Screw two plastic legs (b) into holes at bottom of armless side of 
the left hand facing chair.

STEP4: Use wrench (h) to fix the adjustable backrest at the left hand 
facing chair seat with bolt (f), nut (g) and washer (i). 

4 69015

clockwise turning for 
tighten of the plastic 
leg with screw 

Front

Back

A
rm

 sid
e

Adjustable Backrest

Chair Seat

Nut

Washer

Bolt



Step5: Locate package of sofa legs and hardware for assembly of 
adjustable backrest that are placed into zipper pocket at the bottom of
armless chair.

STEP6: Screw four plastic legs (b) into holes at bottom of the armless chair.

5 69015

With 2 people 
carefully turn          
onto back on         

piece of cardboard 
or carpet to protect 

covering

8pcs

b. Plastic legf. Bolt M8X40 i. Washer 25*8.5*2mm

4pcs

g. Nut

4pcs

pocket

4pcs

clockwise turning for 
tighten of the plastic 
leg with screw 



Step7: Use wrench (h) to fix the adjustable backrest at the armless chair 
seat with bolt (f), nut (g) and washer (i). 

STEP8: Locate package of sofa legs and hardware for assembly of backrest 
that are placed into zipper pocket at the bottom of wedge piece.

6 69015

Nut

Washer

Bolt

Adjustable Backrest

Chair Seat

b. Plastic leg

4pcs

With 2 people 
carefully turn          
onto back on         

piece of cardboard 
or carpet to protect 

covering

pocket

c. Bolt M8X60 d. Washer 18*8.5*2mm e. Allen key 

6pcs6pcs 1pcs



Step9: Screw four plastic legs (b) into holes at bottom of the wedge piece.

STEP10: Connect the two backrests of the wedge piece by slotting, then fix 
them at the wedge piece seat with bolt (c) and washer (d) by Allen key (e). 

7 69015

clockwise turning for 
tighten of the plastic 
leg with screw 

v

align the 3 
holes at two 
sides of wedge

seat with the 
same 3 holes 
at bottom of 
each backrest

Wedge Seat

Completion 

Insert bolts from holes 
inside zipper pocket 
underneath, then go 
through holes at wedge 
seat and backrests, 
finally screwed by Allen 
Key at bolt head.  



Step11: Locate package of sofa legs with fittings and hardware for 
assembly of adjustable backrest that are placed into zipper pocket at the 
bottom of right hand facing end chair.

STEP12: Tighten the pair of timber leg (a) to the bottom of right hand 
facing end chair at front with bolt (c) and washer (d) by Allen key (e). 

8 69015

With 2 people 
carefully turn          
onto back on         

piece of cardboard 
or carpet to protect 

covering

c. Bolt M8X60 d. Washer 18*8.5*2mm

e. Allen key 

8pcs

4pcs

a. Timber leg

2pcs

b. Plastic leg

4pcs

1pcs

3pcs

f. Bolt M8X40 i. Washer 25*8.5*2mm

4pcs

g. Nut

4pcs

Back

clockwise turning 
of Allen key for 
tighten of bolts  

Front



STEP13: Screw three plastic legs (b) into holes at the bottom of right 
hand facing end chair.

STEP14: Use wrench (h) to fix the adjustable backrest at the right hand 
facing end chair seat with bolt (f), nut (g) and washer (i). 

9 69015

Adjustable Backrest

Chair Seat

Nut

Washer

Bolt

clockwise turning for 
tighten of the plastic 
leg with screw 



STEP15: Connect 4 pieces of the corner chaise by sliding foldable clips 
into slide way parts at the bottom of every piece. 

To Separate Two Lounge Pieces
Use two people to lift the lounge and move clear of the connection clips. 

10 69015

bottom view after connection

Slide way parts

Foldable clips

piece offering foldable clips  piece offering slide way parts 



11 69015


